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Solutions

1. Convert to factorial form, then evaluate.
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2. Which is an incorrect way of writing , C,?
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3. How many three-member committees can
be formed from a group of nine people?
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4. In how many ways could 6 online magazine
subscriptions be chosen from a set of 10

magazines?
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5. In how many ways could you choose
4 packages of pasta from a bin containing
11 different packages of pasta?
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8. Application On an English exam, students
need to answer six out of eight questions
in Part A and two out of four questions in
Part B. The order in which they answer the
questions does not matter. In how many
ways could a student answer the questions
on this exam?
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10. Communication Juries are chosen from large

local population. A jury pool has 40 people.
a) How many ways are there to form a
12-person jury in a criminal case?
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b) How many ways are there to form a
6-person jury in a civil case?

¢) Which situation gives a larger number of
ways? Explain why this is to be expected.
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